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. Solve the compl emeny"a0 yu ssionlgu tLiaopnlsa cogf5 ¢oy ansf or

Solve the soy'udyidg-nysOasi ng Laplacéeb®wyansform

. Solve the totaly+g=xah(t)ts whmj ed@® =0 oany(0)=0 using

Laplace t(afna%jorm

.Find the Laplace,tcasabf{ojm dbs((1t0)%)and

. Take Lapl ace t?y'a2ysloy=0.m (035 %)

. Take Laplansf o°y'mbty'off=0. ( 5 %)

. Solve the s ogtyrantpttosfsubject tO6190WWD) =0.

. What i s co?n(vho%h)uti on

. Pl ot a(ty(=Lty( taynd blQU-eY(where U(t) i 61866%8kDwn
.Find the convol udt ibo(nt o f ca((tt){=1lad(ft)) * b ( t )

.Find the Laplace (éhatiocmB8R)] U(Lt)
Pl ease write the initial wvalue thé@éo6fegm and f

I f the Laplacel/«ffriasnsﬁ(osr)m offi nd t he L«Epiacteetms

of P ((s1)0.%)
(Hint: two choices: differential operator an
U(t)=1t>0 otherwise U(t)=0
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